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PE	
  =	
  Market	
  Price	
  per	
  Share	
  /	
  Earnings	
  per	
  Share	
  
¨  There	
  are	
  a	
  number	
  of	
  variants	
  on	
  the	
  basic	
  PE	
  ra=o	
  in	
  use.	
  They	
  

are	
  based	
  upon	
  how	
  the	
  price	
  and	
  the	
  earnings	
  are	
  defined.	
  
¨  Price: 	
  	
  

¤  is	
  usually	
  the	
  current	
  price	
  (though	
  some	
  like	
  to	
  use	
  average	
  price	
  over	
  last	
  
6	
  months	
  or	
  year)	
  

¨  EPS: 	
   	
  	
  
¤  Time	
  variants:	
  EPS	
  in	
  most	
  recent	
  financial	
  year	
  (current),	
  EPS	
  in	
  most	
  

recent	
  four	
  quarters	
  (trailing),	
  EPS	
  expected	
  in	
  next	
  fiscal	
  year	
  or	
  next	
  four	
  
quartes	
  (both	
  called	
  forward)	
  or	
  EPS	
  in	
  some	
  future	
  year	
  

¤  Primary,	
  diluted	
  or	
  par=ally	
  diluted	
  
¤  Before	
  or	
  aRer	
  extraordinary	
  items	
  
¤  Measured	
  using	
  different	
  accoun=ng	
  rules	
  (op=ons	
  expensed	
  or	
  not,	
  

pension	
  fund	
  income	
  counted	
  or	
  not…)	
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Characteris=c	
  1:	
  Skewed	
  Distribu=ons	
  
PE	
  ra=os	
  for	
  US	
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  in	
  January	
  2013	
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Characteris=c	
  2:	
  Biased	
  Samples	
  
PE	
  ra=os	
  in	
  January	
  2013	
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Characteris=c	
  3:	
  Across	
  Markets	
  
PE	
  Ra=os:	
  US,	
  Europe,	
  Japan	
  and	
  Emerging	
  Markets	
  –	
  January	
  2013	
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¨  To	
  understand	
  the	
  fundamentals,	
  start	
  with	
  a	
  basic	
  equity	
  discounted	
  cash	
  flow	
  
model.	
  With	
  a	
  stable	
  growth	
  dividend	
  discount	
  model:	
  

	
  
¨  Dividing	
  both	
  sides	
  by	
  the	
  current	
  earnings	
  per	
  share	
  or	
  forward	
  EPS:	
  

	
   	
   	
   	
   	
   	
  	
  

¨  If	
  this	
  had	
  been	
  a	
  FCFE	
  Model,	
  	
  

P0 =
DPS1
r −gn

P0

EPS0

= PE= Payout Ratio*(1+gn )

r-gn

P0 =
FCFE1
r −gn

P0

EPS0

= PE= (FCFE/Earnings)*(1+gn )

r-gn

P0

EPS1

= PE= Payout Ratio

r-gn
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¨  Proposi=on	
  1:	
  Other	
  things	
  held	
  equal,	
  higher	
  growth	
  
firms	
  will	
  have	
  higher	
  PE	
  ra=os	
  than	
  lower	
  growth	
  firms.	
  

¨  Proposi=on	
  2:	
  Other	
  things	
  held	
  equal,	
  higher	
  risk	
  firms	
  
will	
  have	
  lower	
  PE	
  ra=os	
  than	
  lower	
  risk	
  firms	
  

¨  Proposi=on	
  3:	
  Other	
  things	
  held	
  equal,	
  firms	
  with	
  lower	
  
reinvestment	
  needs	
  will	
  have	
  higher	
  PE	
  ra=os	
  than	
  firms	
  
with	
  higher	
  reinvestment	
  rates.	
  

Of	
  course,	
  other	
  things	
  are	
  difficult	
  to	
  hold	
  equal	
  since	
  high	
  
growth	
  firms,	
  tend	
  to	
  have	
  risk	
  and	
  high	
  reinvestment	
  rats.	
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¨  If	
  you	
  were	
  looking	
  for	
  the	
  perfect	
  undervalued	
  asset,	
  it	
  would	
  be	
  one	
  
¤  With	
  a	
  low	
  PE	
  ra=o	
  (it	
  is	
  cheap)	
  
¤  With	
  high	
  expected	
  growth	
  in	
  earnings	
  
¤  With	
  low	
  risk	
  (and	
  cost	
  of	
  equity)	
  
¤  And	
  with	
  high	
  ROE	
  
¤  In	
  other	
  words,	
  it	
  would	
  be	
  cheap	
  with	
  no	
  good	
  reason	
  for	
  being	
  cheap	
  

¨  In	
  the	
  real	
  world,	
  most	
  assets	
  that	
  look	
  cheap	
  on	
  a	
  mul=ple	
  of	
  earnings	
  
basis	
  deserve	
  to	
  be	
  cheap.	
  In	
  other	
  words,	
  one	
  or	
  more	
  of	
  these	
  variables	
  
works	
  against	
  the	
  company	
  (It	
  has	
  low	
  growth,	
  high	
  risk	
  or	
  a	
  low	
  ROE).	
  	
  

¨  When	
  presented	
  with	
  a	
  cheap	
  stock	
  (low	
  PE),	
  here	
  are	
  the	
  key	
  ques=ons:	
  
¤  What	
  is	
  the	
  expected	
  growth	
  in	
  earnings?	
  
¤  What	
  is	
  the	
  risk	
  in	
  the	
  stock?	
  
¤  How	
  efficiently	
  does	
  this	
  company	
  generate	
  its	
  growth?	
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Example	
  1:	
  Let’s	
  try	
  some	
  story	
  telling	
  
Comparing	
  PE	
  ra=os	
  across	
  firms	
  in	
  a	
  sector	
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Example	
  2:	
  The	
  limits	
  of	
  story	
  telling	
  
Telecom	
  ADRs	
  in	
  1999	
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Company Name PE Growth
PT Indosat ADR 7.8 0.06
Telebras ADR 8.9 0.075
Telecom Corporation of New Zealand ADR 11.2 0.11
Telecom Argentina Stet - France Telecom SA ADR B 12.5 0.08
Hellenic Telecommunication Organization SA ADR 12.8 0.12
Telecomunicaciones de Chile ADR 16.6 0.08
Swisscom AG ADR 18.3 0.11
Asia Satellite Telecom Holdings ADR 19.6 0.16
Portugal Telecom SA ADR 20.8 0.13
Telefonos de Mexico ADR L 21.1 0.14
Matav RT ADR 21.5 0.22
Telstra ADR 21.7 0.12
Gilat Communications 22.7 0.31
Deutsche Telekom AG ADR 24.6 0.11
British Telecommunications PLC ADR 25.7 0.07
Tele Danmark AS ADR 27 0.09
Telekomunikasi Indonesia ADR 28.4 0.32
Cable & Wireless PLC ADR 29.8 0.14
APT Satellite Holdings ADR 31 0.33
Telefonica SA ADR 32.5 0.18
Royal KPN NV ADR 35.7 0.13
Telecom Italia SPA ADR 42.2 0.14
Nippon Telegraph & Telephone ADR 44.3 0.2
France Telecom SA ADR 45.2 0.19
Korea Telecom ADR 71.3 0.44
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  Growth	
  and	
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¨  Dependent	
  variable	
  is: 	
  PE 	
  	
  	
  
¨  R	
  squared	
  =	
  66.2%	
  	
  	
  	
  	
  R	
  squared	
  (adjusted)	
  =	
  63.1%	
  
Variable	
   	
  Coefficient 	
  SE 	
  t-­‐ra2o 	
  Probability	
  
Constant 	
  13.1151	
   	
  3.471 	
  3.78 	
  0.0010	
  
Growth	
  rate 	
  1.21223	
   	
  19.27 	
  6.29 	
  	
  ≤	
  0.0001	
  
Emerging	
  Market	
  -­‐13.8531 	
  3.606 	
  -­‐3.84 	
  0.0009	
  
Emerging	
  Market	
  is	
  a	
  dummy: 	
  1	
  if	
  emerging	
  market	
  

	
   	
  	
   	
   	
  0	
  if	
  not	
  
¨  Predicted	
  PE	
  for	
  Telebras=	
  13.12	
  +	
  1.2122	
  (7.5)	
  -­‐	
  13.85	
  (1)	
  =	
  8.35	
  
¨  At	
  an	
  actual	
  price	
  to	
  earnings	
  ra=o	
  of	
  8.9,	
  Telebras	
  is	
  slightly	
  overvalued.	
  


